mlo

a9

rlo

o I

y
-y

o
B0 &

AHE TA y = —x, y = —2x,
2x,y = 3x 9 I =E 1Y
—2x 9 a1 ZE 0d AL 1

YA

DO




2. AHH JAy =

X,y = bx,y = cx ]
Y ET R
Hr} 2zt o

l:

7"‘ iR k=




1]
& a © gol AR B 9L At
© a<0 0% A 1, 3 AEHL At}
© a © AUl ARSZ 1 2o AT,

@ a>0°¥ x 9 gro] S7HE u, y o] g S7IRIH.

2 dolct.

rr

© 00 © 0,6, ®0,6e
@ @, ® O,0,®



® a> 00l S2% 948 Pk 2 4o|th
@ a<00]W x © gol Z7HF ), y o] 7S

® a<0olH, A 2 4 AFHEHE Zdct










7.

sy @ 9

22 H7]9] 7%741*494 J=E 7 Ao y
o} olm, y = -3 ol JEjnE Zal /|52 o
Azt R
[ 7]
Exl
1 1
y=x y:_2xs y=—-35X y:§X, y:—§x




&2 5719 BA59) ofz

l\D\r—

s} vk ARle A 7

® ot ©
® o0%6
ORGEFEC)

@ 9% ©
ONEEJC)

= 7
=

x9]

a9
ad @

yl




T
(th
b

&)
S
<
= W
+ B
Cny
S m
[y
= X
= <H
™
TN
RS
"o
Ny
Hl o
= H
s
o_ulmxt
T ol W

~—~ o~~~ o~

~— ~— ~— ~— ~—
! 1 ! |
— — — — —~~

—_ —  ~— ~—

1 | 1 1
Py P P Py —~

~— —  ~—  ~—

~—~ o~ o~~~

~— ~—  ~—  ~— =



10. o= 23 Z= AEE BA y = ax (a # 0)
o] Jejmolty, th F a o A AR
2 A2
@O A<B<C<0<D<E
@ B<E<0<0<A<C
® D<A<C<0<B<E
@ 0<C<B<A<E<D

B® 0<C<A<D<E<B

A
C

yl

wy W



11. o 3 2em7ty Fo 13 7k AL

O y=x @ y=-=x
@y:—5x @y:_fx

® y=3x



12, e % 2dns} x o 71 717he AL TEHY

®y:3x @yzix @y:—x
2 3
@y__gx @y—zx



13. th& % 20}y Sl 71 ke

5
@ y=—4x @yzgx
@y*—;x @y:%x

A7



14. o= FolA &4 ¢ A7

@ y=ax(a # 0)°lA |a|o] E5F xFoll 7I7HI%Ih

@ x5 912 Wl yHEE 00|,

® y=ax(a#0) I A a>0°]H A 1,3 AH2HSZ
At

@ ¥9] #x+=(0,0) °lHt.

® y=ax(a#0)9 IHZE=a< 09 o, xgto] S71oHH y a2
ZrA5H= A Ao|tt,



15.

gulel PA y = ax(a # 0) o 2o thet AT F A

A

rlo
fijo

o}
E-)

® a> 009 A 1 AR A 3ARAE 2}
@ a<00lW SEF o} 2 st Ao|tt,

® a9 Fro] 242 yZof 7Pk ATH



16.

Bl BA y = ax o] T2z it T F &

® a>00]W S.E% ofef 2 Fah 2 4olt,
@ a <0019 A 3,4 2R E Adet.

® a>0°H Al x7} S71E o, y= HAd.

B a7} 245 a8 T =9 7Y AT



17.

ol

29

® a> 00 A 1,3AHHS A},

@ a<0°]H A 2, 4AMEHE A},

@ a9 Adigho] 2245 yFof 717X,
® y=ax,y=-ax2 1

Bl BA y = ax(a # 0) 2] 2ol Hiet o= AT & &4

o y=of tsto] AiA ot

oF
E-)

o
—C







19. th& F 1o}y Sl A1 ke

2
@y:_2x @y:—gx
3
@ y=_x ® y=3x

A7



20.

Aulel] BA y = ax(a #0) 9] Tz It HP o= &

rlo

@ y=—ax?] J T} whtA] gr=ct,

@ a<0 ™, y7F xof RHejeetct.,

® a< 02 W, a7t E5F y=oll 77z A4lo] it

@ a>0% W, x3to] F7FsHH y 2 Fashe AAdolth

® a>04 o, A 1,3AFEHE A1 }= 2 A o|c},

7l

29






o2 3 AHE Bl y = ax (F, a2 002 x &=
gt Aoz g2 A9

@ a> 00 A 3,4AHEHLS 2t}

@ a>009 x7} 271 o, y&= AT}

his

® a< 00| 9% ofgh 2 Fsl HHolt,

—

]
=i

@

e,
o

A A 4o]et,

B a7} 242 2 yZo 7Y AT



